INDICATIVE VERBS: 4 KEY FEATURES

Tense-Form Voice Augment Stem @° Tense Former Ending Pattern 1 Often similar to the aorist stem.
) , Primary 2 Often similar to either the present or aorist stem.
Active present @ Active @? s With changes.
Present * Without connecting vowels.
Middle/ resent @' Primary
"
Passive P Middle-Passive ) Verb Rules
' Use reduplication (with an iota) in the present and imperfect.
Active present @' Secondary 2 Use three new endings in the present active: 1s -1, 3s =a1, 3p -aot.
Active * The stem vowel of w verbs can lengthen, shorten, or drop out.
Imperfect . . - .
Middle/ Secondary *Most use xa as their tense former in the aorist active.
. present @' ) .
Passive Middle-Passive
. usually same as Secondary
Active present oo @* Acti
ctive . P
1st Aorist Middl usually same as ou Secondary B | b | e a rC
st Aoris iddle —_—
present Middle-Passive |_> EQU I P =
LA
P . usually same as 9 Secondary
assive
present " Active
. . Secondary
Active aorist Acti
cHve eiul IN THE INDICATIVE
. . . Secondary
2nd Aorist  Middle aorist Middle-Passive Present Imperfect Future
- i
bl 4 b4 b4
. Secondary First et nuny EO‘Q(J.CU.
Passive aorist N . lam | was 1 will be
Active
(E cd ol o1
. Primary 2 Second &l NS EO'n
Active future’ o ) < you are you were you will be
Active (%)
) 14 3 3
. Primary Third €oTIV Yl Ayl
Future Middle future' o Middle-Passive he/she/itis he/she/itwas he/she/it will be
i - iv
> /4 3 P 4
Primar . gouév gV éoéueba
Passive aorist o ) v First H Uiy t
Middle-Passive we are we were we will be
. —_ ) /4 3 o7
Active redup + et Primary € Second  £OTE NTE 50'50'6_5
perfect? Active® o you (pl.) are you (pl.) were  you (pl.) will be
Perfect v
Middle/ redup + Primary T eloty noav goovTal
Passive perfect? Middle-Passive* they are they were they will be
INDICATIVE ENDING PATTERNS
Primary Primary Secondary Secondary
Active Middle-Passive Active Middle-Passive
First AVw Aopat €Avoy EAVOUNY
ks
& Second AVelg Ay EAvec cADoU?
s
Third Mgl MeTal Zave(v) EAVETO
First Abopev Avbpela  Eddopey  Edvopeba
'Technically, the ending is oat, but that is only seen in the Perfect.
g Second )\6575 )uﬁ go'eg g?\{)gfrg é)\l')go'eg 2 The ending changes to gav in the Aorist Passive.
o ® Technically, the ending is o, but that is only seen in the 1st Aorist (as
Third  AUouai(v)  Adovtal ZAvov? éAVovTo ow) and Pluperfect.



